B8F 35 (1)

A K 2 wOm 1 2 ] 3 [m=x] = |ew

; h B= NNEDST @ 3 12 5
K A0t =84
WA #E =S

2 N 1 2 0/2 3 ........................
Wl sk @EUD T2
Bh == HEaT =2

3 2/2 1
28 B HESTZX @ @

B K 2 wm a5 [ 7] 7 [wx] 2 [Ex
BY wE SR

4 3/3 1
M Bs SRR Y@@
N tEo5T

5" - 2 11 @ |13 3
i @t oS5
M NEFERDIST

6 3 2/3 2
BB =HOS5T @ @
IR A FBI5T

7 ~ 2| 3| o 0/3 4
Sm 88 TSy

c K 2 woOE g | o[ 10m=e] = [ mE:
&7 BE SRMHHST

8 7 3| @ |12 2
FE &5 BEVI RT3
AB =P =81

e 2/2 1
INFR  BABR )=V k¥~ @ @
BR Em BIF=—2557

10 1| o 0/2 3
Bl & FPIVT FFZ2IST

D K 2 woOE 11 [ 12 [ 13 [w=| = [ Bm
s g SamiEsxE

11|77 @ | 1 [12]| 0| 2
Wz SamiEsRE
#Ak o BF =257

12 " 1 @ [1/2] 2 | 3 o
g EA SEYIRTIZX
WE = N2

13| “ @ | 3 12| 2 | 1
bR B SRR




BF 35 (2)

E K & [ = 14 15 16 i B Bz
i e BRIHTXR

14 _ 0 2 | o/2 3
FER K FISA4Y
BlE B— team BEA

15 “ @ o |1/2 2
rtR &% JU=Y ¥+
B B% B8I57

16 2/2 1
s SER F=)=Ei| @ @

F K e [ = 17 18 (0] i (=}
gl HiE ARRMSTA

17 . e @ | @ |22 1
BA FE eBERo37
BR & BV D T2 {BEE

--------------- 18| 1 @ | 1/2 2

o EH Gl i
HE Bz INEDST

19 _ 1 (0] 0/2 3
e Bx BEVI TR

G K 2 PR = 20 21 22 | B=x [[E}ini
W#r3 B BEINFZ2DS5T

20 y T @ | @ |22 1
WH R BEVIRTZR
af =% B RIEELER

--------------- 21 R R |o/2 -

B2h 5& BIRIEEER
B = SUTFZ2ADST

22 - 1| @ 1/2 2
& &F0 IRODOST

H K 2 PR = 23 24 25 | = iz
=8 &N E=)= kel

23 2/2 1
= B Sl @ @
=R JORER v a V

24 B _ 1 @ 1/2 2
Pt BT MNTFYIv I
W £ WP T R FZIS5T

25 R R 0/2 -
HE BL WP T R FZIS5T




B7F 45

A [5¥ & _ PR _l% \ 1 2 3 i D = [[E5iv
BT e DE
> s me lamvoie=z | 2 1oz |
B K & 2l = 4 5 6 i = [[[=3iwi
— —
* 25 ;ﬁ Egggg 1102 S
5 o 22 |znsta. | @ EE
© IEE %i gﬁglj:?‘?zz1;§égﬂ @ @ 2/2 1
K 2 P 5 7 8 9 = = [[=Lwa
BIA 5 BLUE GRASS 12 5
5 Y TEII55T
INE R =V EP]
° 2% mm  |wmazex | @|N]@]22| |
= = 07X _
o lww wu  lwmooraca | 112 N\]°2] |3
0] K = % ® |10 1] 12] 13 | Bx] = [Em
o) 8RR TR
" lgn wm  |roonoss @|1]2s| |2
12 |on am |zonrso | OO 0|oz| |4
£ E & 7 ® |14 5] 6] 17 [ Bx] = [Em
B =1 RE) >
il ND DG
15 lpn Am |mem=a | O N/ @[O0 |vs| |3
e e
= SARIERS
7 e mw oomese | @ |\[22]| |2




JZPEFS50

Al E = H B 1 [ 2] 3 [m=] = [Ex
' e s |smvoiecx 22| | 1
=y I AR ERAEZE
= RN I
K & B 4 5 6 | Bx| = | IBEu
& + U” — N
i B Dk FTIROS
6 o2 gx  |mmoieas | B | R 2| |-
< 5__& R 7 | 8 | o |m=]| = | IEn
&l 2 = fw
e = |osmoroos @22 |11
= 8 — — 7B
° iﬁ?éu&“ﬁ IE?E?EE O 1 0/2 3
D K & Mo B 10 | 11 [ 12 [ 13 [k | = | IEf
T ==
oEE mrr Nalalals] |
! %‘\I; zfa EZ; O 2|0 |os 4
EX AT = =RV
2k s, |o|@ 3 | s 3
=iE \ ——
18|57 B leeearas | 1| @@ |\(2°| |2
E E_ & B 14115 [ 16 [ 17 [m=] = [IEm
4 ﬁig 324% oLUE GRASS @ | @ 3/3 1
NI B = ==
'S ;LS;:;HI;%: ;}igg; O 1 | 2 |03 4
10 fﬁ\gﬂ%ﬁﬁ g;;ggjj 3| @ 2/3 >
==} =1 £O R TE £
TEE pe  lmemee (O |@]2|N\]'°] |G




JZPEFOD
A 5 & | R 12 [ 3] 4 BR[| = |BEu
e w lones [o[Ne [t [ [
e wm  |meoso | @2 [\|@|2e] |-
‘lus re  |2A50Za 0@ 3 [\ 2] |3
K& B 5 | 6 | 7 |®BR| = |E
P s ORNE
oo G
“lew e Jemozz [0 10 [N]oz] |
E_& _ P B 8 | 9 | 10 || = | B
%1\2 ;u: E;Eég;;ﬁ @ | 1/2 )
2 >~ 2B
9 Eﬁ %_ %2%2“%”8 @ @ | 22 1
D K& P& |12 | 13 | B | &= | IEW
" 5 ;2 52757 @] 2
= —EONE
olan & lmmwss [0 1 [N]oe] [
E K8 _7 & 14 | 16 | 16 | B | = | B
Slie s lEmoorz=a| 2 [N\ @ || |2
ol o e[ [a N[ee [
F K _& | 7 _& 17 [ 18 | 19 | 20 | Bk | = | B
[ limpes |e]o]a[N\]=




I_PBEF60

A K & PR ] 1 2 3 | B [[Efivi
TR x® JREBHAER

1 @ | @ |22 1
N BLUE TAKAX
TH —= =5z A R

2 | B _ . O 1 0/2 3
BE ZF(E WBF_—2DO5D
= 1E3A mEDST

3 1 @ 1/2 2
R x0@E HPIVDT R F=RDST

B K & PR ] 4 5 6 | B [[Efivi
BB &= EMFOST

4 2/2 1
N = SIRODST (Q (D
PR 8Y6A M5 — 8T

5 _ @) @ | 1/2 2
W [ MEF = Z{BER
w RBRZ SEAYVIFTZX

6 _ _ @) 1 0/2 3
M $— EBVIRTZR

C K & PR ] 7 8 9 | B [[Efivi
HT #HmR SIRINDST

7 s - L @ | @ |22 1
Bl 53 it o527

s EiE W3 WBF—2DO5T 3 @ | 12 5
AL eB— JLEfEEES
RE 1E® P RF RIS

° _ 110 0/2 3
M By SROOST

D K & PR ] 10 | 11 12 | B [[Efiv}
FR B BEVIRTZR

10 4 @ | @ |22 1
mlll =2 BEVIRTZX
®F B=E BEoFoS5T

11 _ 2 2 | o2 3
O we EDFIST

15 e 8 SROOST 0 C> P 5
noEE  =0E DS




Y_PHEF65

A K & 2l = 1 2 3 xR = &3z
BB 8K BF—_2XD>5T
1 2/2 1
= NIFS MwEDST @ | @
= STEIIDST
2 B &= ,IiJIID?D\\ 2 1 0/2 I 2
8 BB TPINDSD
AN B \ —: —j
3 M% JEU BNV RFZ2DS y @ 12 5
nogE 5 8D TSI
B K & PR I 4 5 6 T OB E | B
4 NiE G NI KON 0O 5/3 5
o x5 NI KON
ﬁB S \ e
5 f% ffﬁ NP 572X y y y 0/3 4
BE S FPIT RF=RIST
Sig B IRODST
6 3/3 1
HE F08R HEs7=X @@ @
WK ki IR
7 1/3 3
R ==Y | BEBY D T S8 O @ O /
C [5¥ 2 PR I 8 9 10 | Bs=x = [[ELiv
nKr RE FPIUDI RFZROST
8 2/2 1
RME B it > @@
— - = —
5 —_K 3B \Ii'jﬁ??‘ y 3 | o2 3
850 &4 IRDOOST
— pu —
0 EVHH BN aﬁ%?jz \\ 0 @ 12 5
SE — MORDSD
D [5¥ 2 PR I 11 12 13 | BXR | GE | IBfiI
11 %ﬁfﬁ B2 Br =203 @ | 1 |12]| 0] 2
EHiE BE F—ALANARO
12 ;ﬁ%wm?\’ﬁ HTDHSTC 1 @ 1/2 | -1 C T —
Ft+=E ®7 HEBDHSTC 1
Wi 8— IRODST
13 12| +1 | A
nofE BB BEVI T @ 2




Y_PHEFT0O

A K & i I 1 2 3 xR = &3z
B2 ==} =
] BE = ’%BUESZ{E{K%_B @ | @ |22 ’
NI fNZR BNV RFZ2OS5T
5 WHE %g% team 5 y y 0/2 3
nw =8 by ool
= & = Y - = *
5 |P® HS /7k}|!\7_39“77 3 @ 1/2 5
12 BIER DEESUST
3R
B KE 2B PR B 4 5 6 7 | Bx| Z | B
#FAN BB ZEDIST
4 1/3 4
53 = ZEDIST 3 2 @
=8 Its MORD ST
5 1/3 3
£ X NOY.NTA W @ O 2
=30 B I2pZ—FZ2D35T
6 2/3 2
g BATR BEVIRTZR @@ 2
B &7 AERMSTA
7 2/3 1
o KRB ERIFIST 3 @ | @
C K 2 R B 8 9 10 | 11 | B | Z | IBh
ik 80 J\EFHEA
8 3/3 1
5 =13 MOKRDST @ @
=% BE BARHOST
o |7 1/3 3
=5 =M RNEZER 1 2 @
AR FBA SRODST
10 2/3 2
B B ERIFIST 1 @ @
BREX 1BX HE<50
11 0/3 4
me E— FHOST O 2 2
D K & i = 12 13 14 | B = &3z
15 R FX EShai=2awi @ | @ |22 ’
DY Hih N | KON
25 = =
13 AH BE ﬂ:tgjj_ “ R R | o2 5
FR HX ERIFISD
14 M;? SRR MO)?KD??“ 0 @ 12 5
BB B MOKRDI ST




JZPBEFTH

K P = 3 R &7
AR BF—2557 oo 1
ne = Mt ST
=5 8% FHERBSTA
e i 55T 2 |02 3
ES BT S EXTSTA — 5
e SREBXHES T A




